
MERCEDES CLA (C117)     4   2013  -> 2019
MERCEDES CLA (C118)     4   2019 -> 
MERCEDES CLA Shooting Brake (X117)  5   2015  -> 2019
MERCEDES CLA Shooting Brake (X118)  5   2019 -> 
MERCEDES CLASSE A (W176)   5   2012  -> 2018
MERCEDES CLASSE A (W177)   5   2019  ->
MERCEDES CLASSE B II (W246)   5   2011   -> 2019 
MERCEDES CLASSE B III (W247)   5   2019  -> 
MERCEDES CLASSE C (W204)   4   2007 -> 2013
MERCEDES CLASSE C (W205)    4   2014  ->
MERCEDES CLASSE C coupè (C204)  2   2011   -> 2015
MERCEDES CLASSE C coupè (C205)  2   2016  ->
MERCEDES CLASSE E (W212)   4   2009 -> 2016
MERCEDES CLASSE E coupè (C207)  2   2009 -> 2016

Brand & Model

MAX 75 KG

SUP-A012

Aurilis Group Italia srl, I - Via Torino 101, 12045 Fossano (CN) - www.aurilisitalia.com

Rev 10/2023

0

10

20
30

40
50

60 70 80 90 100
110

120
130

140MAX
80 Km/h

0

10

20
30

40
50

60 70 80 90 100
110

120
130

140

MAX
130 Km/h

NO do not open

NO

NO



v

1211501 1211502 1211503 1211504
x1 x1 x1 x1

x1

x4
71007

x2     x2        x4   x4

SKB
106

M8X50 M8X60

x1
10013ZG

x1

x2

x1

Check !
Push  

x4 x4 x4

x4x4 x4

A B C

in caso di piedi pre montati saltare le fasi A e B - in case of pre-assembled feet skip phases A and B - 
en cas de pieds pré-montés, sauter les phases A et B - im Falle vormontierter Füße die Phasen A und B 
überspringen - En el caso de los pies pre-montados saltan las fases A y B

SKB
115

x4
4700.660

x4x4 x4 1511507

x4

10003S0

x4

B8015P

SK

81004
x4

SK



A B
C

D
A

B
C

D

CONFIG. 1 
MERCEDES CLA Shooting Brake (X118) CLASSE A (W176 / W177), CLASSE B (W246 / W247)

)

CONFIG. 2 
MERCEDES CLA (C117/C118)- MERCEDES CLA SHOOTING BRAKE (X117), 

+

+

+

+

+

+

+

+

B
C

D

CONFIG. 3 
MERCEDES CLASSE C (W204 / W205) -  MERCEDES CLASSE E (W212) MERCEDES CLASSE S (W221)  

+

+ +

+ M8X60M8X60

M8X50 M8X50

A



x4

O
N

LY
 F

O
R 

CO
N

FI
G

. 1
 / 

CO
N

FI
G

. 2

Open

A
B

C
D

CONFIG.  4

+

+ +

+ M8X50M8X50

M8X60 M8X60



CHECK! CHECK! CHECK!

100 Km 1000 Km

CHECK!

10 Km 500 Km

x4

5 Nm

5 Nm

5 Nm

Specific for
CONFIG 1 / CONFIG 2

Specific for
CONFIG. 3 / CONFIG. 4



FR : Pour le démontage rèaliser a l’inversement ces étapes 
EN : For disassembly perform these steps in reverse
ES : Para desmontar siga estos pasos a la inversa
IT : Per rimuovere le barre seguire le fasi al contrario
DE : Zu zerlegen diese Schritte in umgekehrter.

FR : Ne pas dépasser le poids total autorisé en charge (PTAC) sur le toit du véhicule. 
EN : Not exceed the total weight permitted on the vehicle roof
ES : No debe sobrepasarse el peso total permitido sul techo del vehículo motorizado
IT :  Non superare il peso complessivo ammesso sul tetto del veicolo
DE : Das zulässige Gesamtgewicht des Kraftfahrzeuges darf nicht über¬schritten werde n

+ = Max 75 kg4 Kg

CHECK! CHECK! CHECK!

100 Km 1000 Km

CHECK!

10 Km 500 Km

FR : contrôle périodique à chaque voyage et à certains kilomètres parcourus. 
EN : Periodical check at each trip and at certain Km travelled.
ES : control periódico en cada viaje y en ciertos Km recorridos.
IT :  controllo periodico ad ogni viaggio e a determinati Km percorsi.
DE : periodische controlle bei jeder reise und in bestimm ten Km.

5 Nm
5 Nm

Check !

MAX

MAX
75Kg

x4



FR : Suivez les instructions de montage et les instructions dÕutilisation donnŽes dans le manuel fourni. Conservez le manuel dans un endroit sžr. CapacitŽ de charge 
maximale admissible sur le produit 75 kg. Ne dŽpassez pas le poids total autorisŽ du vŽhicule. Respectez les instructions du constructeur du vŽhicule concernant la 
charge maximale sur le toit, en dŽterminant la charge rŽelle sur le toit : poids de la galerie de toit + poids du co�re de toit + poids de la charge = charge rŽelle sur 

de charge. Les barres et leur charge ne doivent jamais dŽpasser le dŽgagement latŽral maximal du vŽhicule. Les charges transportŽes sans lÕutilisation dÕun accessoire 

sensibilitŽ aux vents latŽraux et son comportement dans les virages et au freinage. Nous recommandons toujours de conduire le vŽhicule avec une grande prudence 

normativa vigente, asegurando las cargas que sobresalgan adecuadamente mediante correas ancladas en los ganchos delanteros y traseros del veh’culo. Todas las cargas 

miento en las curvas y en las frenadas. Siempre recomendamos conducir el veh’culo con mucha precauci—n (reducir la velocidad, teniendo en cuenta el aumento de las 
distancias de frenado). Para reducir el consumo de combustible, se recomienda retirar las barras de carga del techo despuŽs de cada uso.

mo ammissibile sul prodotto 75 kg. Non superare il peso complessivo ammesso del veicolo. Rispettare le indicazioni del produttore del veicolo relativamente al carico 
massimo sul tetto, determinazione del carico e�ettivo sul tetto: peso delle barre portatutto + peso del box portabagagli + peso del carico = carico e�ettivo sul tetto. Le 

EN : Follow the assembly and operating instructions given in the manual provided. Keep the manual without time limitation. Maximum allowable load capacity on the 

tion of actual roof load: weight of roof bars + weight of luggage box + weight of load = actual roof load. Adjustment and positioning measures shown on instruction 

cked after each use and regularly during the journey. They should also be rechecked after each stop, and more often on uneven ground. If necessary, resume the locking 
torque. In any situation, always comply with the regulations in force. The load should always be evenly distributed on the bars, the center of gravity should be as low 
as possible. Always fasten the load properly and securely. Try to place the heaviest loads, at the fastenings of the load bars. The bars and associated cargo should never 

ticularly sensitivity to crosswind and behavior in cornering and braking. We always recommend driving the vehicle very cautiously (reduce speed, taking into account 
increased braking distances). In order to reduce fuel consumption, we recommend removing the load bars from the roof after each use.

use this product, combined with roof tent of any kind. When driving the vehicle, the product should always be locked in both directions and locked (even for small 



Check
your
height

Warning: Caution required
when using roof bars with a
sunroof

OK NO OK

Made in the EU
Mountney Ltd, MXL Centre, Lombard Way, Banbury, Oxfordshire, OX16 4TJ.
Visit us at: www.mountneyltd.com info@mountneyltd.com

 Ins tallation Notes :

 Important S afety Notes :
•  P leas e retain thes e ins tructions  s afely with your car owners
manual, for future reference.
•  T he maximum permis s ible load evenly dis tributed over the full 
width of the bar with a low centre of gravity is  75kg (including 
the weight of the bars , 4kg). C heck the vehicle handbook for 
fixing location for the roof bar and the maximum permitted load. 
T he maximum permitted roof load mus t be the lowes t quoted
figure. And if the vehicle hand book s tates  a maximum of les s  than
75kg, then that is  the maximum permis s ible load. E ven if the
vehicle handbook s tates  a maximum of 120kg, the maximum 
permis s ible load for thes e roofbars  is  75kg.
•  It is  your res pons ibility to ens ure that all loads  are correctly and
s afely s ecured us ing s uitable fixing methods  (e.g. s trong webbing
s traps  with buckles ).  W here s pecialis ed acces s ories  are available,
they s hould be us ed (e.g. C ycle C arriers , S ki Holders , etc).  If s mall
heavy loads  are being carried, load to one s ide of the bar, not the
middle. Never attach loads  to roof bars  us ing bungee cords  or
elas ticated s traps . 
•  B efore driving and at regular intervals  during your journey, check 
that all s ecuring s crews , clamping devices  and foot attachments  
are fully tightened, in accordance with thes e ins tructions .
Additionally ens ure the load is  fas tened correctly.
•  After covering a s hort dis tance, all s ecuring devices  of both the 
load and the load carrier mus t be checked and tightened as  
required. T his  mus t be done at s uitable intervals , depending on the
nature of the road.
•  T o prevent damage or dis colouration to the paint under the foot 
pack rubber, we recommend the cleaning of the load bar feet and
the vehicle roof prior to fitment. T he load bar s hould be removed at
regular intervals  to repeat this  proces s .
•  Neither the roof bars  nor load mus t project beyond the maximum 
profile of the vehicle.
•  T ake care not to drive into low places  s uch as  garages  or multi-
s torey carparks  when carrying a high load, particularly cycles . 
Do not drive through an automatic car was h with the load carrier 
mounted on the vehicle. When c arrying long loads  take c are 
when opening the boot to not hit the boot lid onto the load.

•  F it the roof bars  according to the ins tructions  only. Do not
as s emble or us e this  product unles s  you have unders tood the 
fitting ins tructions . C heck with the ins truction manual that all the
neces s ary parts  are included.
•  C heck and make s ure that all fas tening parts  are fixed s ecurely. 
P leas e check als o that the load is  fas tened properly by pus hing 
and pulling it.  R echeck regularly. 

•  P leas e note that s ome antennas  and s unroofs  can interfere with the
roof bars  or acces s ory when ins talled and s hould not be 
us ed, if s o.
•  F ollow the ins tructions  thoroughly and do not jump ahead in the 
s equence (1,2,3, A,B ,C … etc).

•  Us ing the bars , es pecially when carrying a load, will affect the
driving and braking characteris tics  of your car. Larger roof loads  may
als o affect your car’s  s ens itivity to cros s  winds . F or s afety reas ons ,
the vehicle mus t not be driven at maximum s peeds . 
S peed s hould be matched to the load being trans ported, to prevailing
conditions  including the s tate of the road, the quality 
of the road s urface, the volume of traffic,  etc.,  and of cours e any
s peed res trictions  in force. W here there are no res trictions  in force,
we recommend a maximum s peed of 65 mph, but the vehicle s peed
when trans porting a load of any kind mus t be 
matched to the prevailing conditions .
•  S urfboards , boats  and large flat objects  may produce damaging 
aerodynamic forces  to the vehicle, out of all proportion to their 
dead weight. W e therefore recommend travelling at much 
reduced s peed when carrying thes e articles . Where two or 
more s urfboards  are c arried (or s imilar items  whic h may 
produc e lifting forc es )  they s hould not be c arried s ide by 
s ide, but s hould be s tac ked one upon the other. T hey s hould 
be s ec ured independently to the front and rear of the vehic le 
us ing s trap or methods  whic h are c apable of withs tanding 
the lifting forc es .
•  When c arrying kayaks  or c anoes  ens ure that they are 
s ec ured to the bars  and als o the front and rear of the vehic le 
in the upright pos ition.
•  T he roof bars  mus t be kept clean and properly maintained, 
particularly during the winter months  when dirt and s alt mus t be 
removed. B olts , s crews  and nuts  s hould be lubricated at s uitable 
intervals , the periodic us e of a s pray lubricant will keep any lock 
barrels  working freely.
•  Always  fit the roof bars  in accordance with thes e ins tructions . 
T he s pacing between the front and rear bars  mus t never be les s  
than 700 mm, except where the vehicle mountings  determine 
the s pacing.
 IMP OR T ANT : T his  load carrier is  es pecially des igned for your 
car model. Please therefore check which type of load carrier is needed
when chang ing your car. Do not use spare parts  from other products.
Do not put the car through an automatic car wash when the load
carrier is mounted. The manufacturer takes no responsibility for
damage caused by an incorrectly �tted load carrier.


